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61.

V

To draw Von Koch’s Snowflake curve we

* start with an equilateral triangle, C,

" then divide each side into 3 equal parts

" then on each middle part draw an equilateral triangle

" then delete the side of the smaller triangle which lies on C, .

The resulting curve is C, , and C; , C, , C; , .... are found by ‘pushing
out’ equilateral triangles on each edge of the previous curve as we did

with C, to get C, .

Quaiteney i tuis, ey 3, Hs &, @8 Aucun & g5 sam $tS 167



fancltenas m[}g\mg f&e N8 a"jame%[gmf[g:’ﬁf

We get a sequence of special curves C, , C, , C; , C, , ... and Von
Koch’s curve is the limiting case, i.e., when n is infinitely large for
this sequence.
Your task is to investigate the perimeter and area of Von Koch’s
curve.
What to d:
1. Suppose C, has a perimeter of 3 units. Find the perimeter of C, , C;
C, and C;.
Remembering that Von Koch’s curve is C,, where n is infinitely
large, find the perimeter of Von Koch’s curve.
2. Suppose the area of C, is 1 unit® . Explain why the areas of C, , C; ,

C, and C; are

A =1+% units® A :1+%(1+gj units®

2 2 3
SR e G A R

Use your calculator to find A, where n =1, 2, 3, 4, 5, 6, 7, etc., giving
answers which are as accurate as your calculator permits.

What do you think will be the area within Von Koch’s snowflake
curve?

3. Similarly, investigate the sequence of curves obtained by pushing
outsquares on successive curves from the middle third of each side,

i.e., the curves C, , C, , C; , C, , etc.

Region contains 8 holes.
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